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- 1. Answer the following quesﬁong . | 1x5=5

(@) Deﬁne software engmeermg
(ii) Deﬁne couplmg
(iii) What is SRS ?
(iv) Define software Crisig,

| (v) Explain about softwaye - . tenance.

[Turn over




2. Answer ‘the followmg questlons

2"5=10 " (v) Consider a project with the - following
. tional units :
(1) Wnte some challenges of SOftware ; fune o :
| engmeermg * Number of user inputs = 50 .
' : = 40
(u) What is meant by black-box testmg ? Number of user outputs
ser enquiries = 35
(111) Discuss about software prototypmg Number of ¥ | "
| Number of user files = 06
! - | , ’
(1v) Exp ain Bottom up des1gn o i Number of external interfaces= 04 -
(v) Explam about DFD. e ‘

. e .ctors and
complexity adjustment fac

. | | Ass;ll:;;?n; lfa,ctors are average. Compute the

, o wei

3. Answer any ﬁve‘quesﬁons from the following " function point for the project

e ( )What do you AN by object orientcd
V1
- (i) Draw the E-.Rdlagmm for hbrary management : deslgn ?
system. Make Your own assumption about the . lowing -
- S , ons omthefoowm :
system. . : , A.nSWCf any four queStl 10X4_40
(u) Wnte some Challengs ofsoﬁware engmeermg A Descnbe size estimation techmque in soﬁware
' engineering.
m) Explam software tenance |
( ‘main Process, 5. Explain briefly charactetistic of 5 good Software
@iv) Describe Ganu ‘charts and PERT charts, Requ:rement Spmlﬁ"atlon (SRS)

@
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6. Descnbe different types of couphng that can exist
between two module

‘7 Describ COCOMO. (Theory Paper)
. C
. Paper Code : CSIT-3:2 (Old)
8.  Explain the waterfall model with some advan | ‘
‘ and dlsadvantages 2ges ‘ s (Dlsmbuted System)
| ‘Full Marks 80
9. Draw DFD upto level 2 for student Result " Time—Three
Management System, Make your own assumption | Time - hours |
about the system. ‘ The figures in the margin indicate full marks

for the questions,

1. 'Answer any five of the fOlloWing questions :
2x5=10
,(a) Define distributed system. ,

(b) What are the advantages of dnsmbuted‘
systems ? |

(©) What are the different types of systemn
~ model?

(d) What is the m“ltlprocessOr and mulﬁcomputer .
system ?

(6) Why we need OPenness 9
(f) What is access Point ?

(2) What are the ™0 reasons of replication of =
data ? .
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g o - - 3. Explain the various design goals for Distributed
2. Answser any ten of the following questions :

System with example. 0.
310=30 ' by Cod ? Expl
4. What do you mean by Code migration ? Explain
(a) Explain Remote Procedure Call RPC). | he Roasons for Migrating Code and also explain
” (b) ‘Elaborate persistence and 1rans1ent communi- L models of code migration. | 10.'
cation. T _ | 5. Wnte in brief about Bully election algonthm o
. ) 0
(©- Explam Log!cal Clock and Physwal Clock. : ' . ‘ ! o
()] Descnbe about the client seiver commumca- | :
tion. .

. Explam Dlsll’lbllted commit approaches in brief

S AR 10
(e) Mlustrate the aropiioctures for multi-threaded | .
-oosevRm ~ | 6. Write short notes 00 &Y Mo $x0-10

- O Bxplin Names, gentifiers, and Addresses. - | - (@ Checkpointing

(g) Dﬁefehtlate between Weak mobllxty versus _ (b) Middleware :

(h) leferentlate between process and thread.

(@ Explam the

P assing approaches in
ibuted. al'ameter p

COmmunication.
() What is globey g,0o 9 Explain in detail
(k) Define muiticyy communication.
() Explain the fénufe models in brief, . o . |
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